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Seat No. Enrolment No.:

Gujarat Technological University

Diploma Engineering C to D Bridge Course Examination
Subject Code: C320002 Date: 09-06 -2017
Subject Name: Advance Mathematics Group -1
Time: 10:30 AM to 12:00 PM Total Marks: 70
Instructions:
Attempt all questions.
Make suitable assumption wherever necessary.

Each guestion is of 1 mark.
Use of SIMPLE CALCULATOR is permissible, (Scientific/Higher Version not allowed)

English version is authentic.

ok W =

No. | Question Text and Option. U#H ol (Asel.
For complex number z = 5 - 3/ then . =
1. Al | 5+3i B. |5-3

C. |3-is5 D. | 3+35
As Avall =5-3icll ; =

UV A | 5+3i B. |5-3i
C. |3-is5 D. | 3+35
For complex number z = 4+ 2i |Z| =

2 | A | 245 B. |26
C. | 245 D. 1 Guz 44l 918 ua «
USR AU, z=4+20 Y3 o=

.| A | 25 B. |26
C. | 245 D. 1 Guz 44l 918 ua «
i’ =

3 A | B. 1
C. | (-1) D (0
it =

3. A. i B. 1
C. |[(-1) D. |0
I z=1+ithen ¥ = -
A, I B. n

4 3 4
C. o D. II

2

°ﬂ z=1+1i ('D. g =
A, I B. n

¥. 3 4
C. o D. II

2

(cos & + isin 9)3=

5.
Al (cos 8 +ism 8) B. (cos 36 +isin 36)
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C. | (cos 30 +sin 38) D. | (cos 36 - isin 36}
(cos @ + isin 9)3=

W, | A | (cos @ +isin 0} B. | (cos 36 + isin 36)

C. | (cos 30 +sin 38) D. | (cos 36 - isin 36}
—16 =

6. A. 4 B. (u4)

C 0 D. (x4)
—16 =

g A |4 B. (- 4)
C. 0 D. (£4)
iti +i +i +i°=

7 A |0 B. 1
C. |- D. |i
ivitHi i+ =

9. [A |0 B. |1
C. |- D. |i
If Z=-1+3i then |Z] =

g | A \/H B. [10
C. |-10 D. |01
o Z=-1+3i el |Z] =

¢ A | Vo B. |10
C. |-10 D. |01
¥ o :3+2i3.11d Z2=4+2iﬂ'1€311 L7 4 =

9. A To B. |1
C. |2 D. |3
of| L =3+2igue =4+2idl -z

€. A [0 B. |1
C. |2 D. |3
If f(x)=x"+1then F(2)=

10. [A. |6 B. |3
C. |5 D. |0
A £(x)=x° +1(‘D.f(2)=

0. [A. T6 B. [3
C. |5 D. |0
If F(x)=sec x then f(-x)= .

11- A. S5eC x B. — sec X
C. tan x D. cos x
°a.f(x):secx c'nf(—x)= —

qq" A. 5¢C x B. — SeC X
C. tan x D cos x
T 7(x)= log x then f[i):

12. >
A | f(x)- £(y) B. | r(x)+ £(»)
C. | rlx)r(y) D. |0

2. o f(x)=log x dl f{iJ:

y
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A | Flx)- £(y) B. | r(x)+ £(»)
C. | rlx)r(y) D. |0
If fix)=x>-4x+5thenf(2)=
13. [A. |1 B. |2
C. |4 D. |6
ol F(x)= x2—4x+5<'u.f(2)=
3. TA 1 B. [2
C. |4 D. |6
If f(x)=sin x then f(-x)= _
14_ A. COS X B. (—- o8 x)
C. | sinx D. | (~sin x)
°af(x)=smx<-ﬂ.f(—x): _
Y. | A, | cos x B. (- cos x)
C. s x D. {~sin x)
xsin x 18 types of function.
15. | A, | Odd B. | Even
C. | Constant D. | None of above
xsin x A Yslq] (A8 .
. | A | Aadl B. | adl
C. | auan D. | Guz 49l 88 wel o
If r(x)=x" and g(x)= 2x+1then gof (x)= _
16. | A | 247 -1 B. | ,t4+1
C. x’ D. None of above
olﬂ.f(x)zx2 2}{9. g(x):2x+1 ('n.gof (x): .
‘LS A 2x2—1 B x2+1
C | & D. 1 Gyz 44l 918 ua «@
I
K f(x)=sin x then f(—)= -
2
17. [A. |0 B. 1
C. | (-1 D. | 1
2
II
ﬂfm=mx&fqﬁ _
9. |A. |0 B. 1
C. | (-1) D. |
2
x2 +x+1
lim = _
x>0 ):+1
18. [A. |1 B. |0
C. |3 D. 3
2
lim x2 +x+1 B
16. x>0 X+1 - -
A |1 |B. |0
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3 D. 3
2
lim (5x° - 5x+5)=
19. FA 5 B. |4
C. |0 D |3
lim (5x° - 5x+5)=
€. A s B. |4
C. |0 D |3
m 142] -
20. x>l x )
A |5 B. 5
C. |0 D.
im 142 -
0. |7\ %)
A |5 B. 5
C. |0 D.
sin 66
him =
hp. |7 tan 36
A |2 B.
C. |3 D |1
sin 67
him =
oq | °2¢tn 30
A |2 B.
C. |3 D |1
Ify:3lthendiz
dx
22 TA 1 g 3 B. |3
C. |0 D. 1
ﬂy::)’(cndi:
dx
2. A 3 g 3 B. e
C. |0 D |1
i(4Jc3)=
dx
2. TA T2 B. |«
C. |ax® D. |3,
i(4Jc3)=
23 i
AL 1247 B. | »
C. l4x D. |3,
= 3x” then di:
24, dx
A |0 B. 1
C. |2 D (3
o by = 3x2cll 2o
2. xy = 3x "
A [0 [B. |1
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C. |2 |D. |3
If y = 1_3 t.hen dl: _
x dx
A. 3 B. 3
25. r —
X X
C. 1 D. |3,
x]
A, LA N
X
A. 3 B 3
U, = 2
X X
C i D. 3x°
x]
Ifx:sinﬁ&lldy:cos@thendiz o
26 @
) A. cot 8 B. tan g
C. —-cot @ D. —tané
ola.x:s.intﬁ‘2}{‘;[)::(2056 rﬂdi: .
dx
2s. A. cot 6 B. tang
C. -cot & D. —tang
I y=log (sin x) thendiz
27 <
| A, | tane B. cot &
C. —tané D. —cot &
°£a.y:log(sin x) (‘D. @ =
dx
=9 A. |tané B. cot &
C. | —-tane D. | —cot e
If y=tan ' x theny, =
A, 1 B. -1
28. 1+ x° L+ x°
C. |0 D. 1 Gyuz 14l 518 ual o
°£a.y=tan_]x rﬂy1=
2 A, 1 B. -1
' 1+ x° [+ x°
C. |0 D. 1 Guz 14l 918 ual «@
Function x+ y = sin (xy }, then di: _
dx
5 A. ycos xy — 1 B. veos xv +1
9. 1- xcos xy 1+ xcos xy
C. 1- xcos xy D. 1+ xcos xv
ycos xy —1 yecos xv +1
[aaal x+y:sin(xy),1-u\a dl: _
dx
€. A. yceos xy — 1 B. yeos xy +1
1- xcos xy 1+ xcos xy
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C. 1- xcos xy D, 1+ xcos xy
yeos xy -1 yeos xy -+ 1
f(x)=sin x then maximum value =
30. TA To B. |1
C. |-l D, |2
F(x)=sin x HIE HeTH BHd=
30. [A To B. |1
C. |-l D (2
fx}=cos x then minimum value
31 |A |0 B. |1
C |-l D. 1 Gyuz 14l 918 ua «@
Flx)=cos x HIZ oyotcdld (Bucd
39. |A. |0 B. 1
C. |-l D. | Guz 14l 818 el «13
Function f(x)= x* - 2x+3 then maximum value x = _
32 |A |1 B. |0
C. |2 D. |-2
Q82 £(x)=x* 2x+3 HIE HETH BHA x - _
3. 1A 1 B. [0
2 D. |-2
Iehdx =
33- A_ 363x B_ 63.‘:
C. | . D. |0
3
Igf‘xdx _
33 A, 363; B. 631
C. | .» D. |0
3
Ixe Tdx = .
4. A B
C D.
.[xe “dx = _
3Y%. A e’ (x-1)+c B. e’ (x+1)+c
C. |e+c D. | Guz U4l 818 ual <
J'ek’g g . _
35. |AL |« B. | .12
C. | D. |1
J'ek’g “dx = B
3L, A | x B. | i*p
C. | o D. |1
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[y - :
9+ 4x
A. B. 1
36 tan _,(Z_XW_!_C — tan _1(_XW+C
; L3 6 L3 )
C. D.
6 tan “l(z—xWJrc tan _1(3—xw+c
L3 ) L2
e - :
9+ 4x
A. 2 B. 1 2
36 {an wl(_warC — tan q(_xWJrC
) L3 6 L3 )
C. D.
6 tan "(2—x)+c tan "(3—XW+C
L3 ) L2 )
J'cos xdx =
37. | A, —cos ecx B. — cos ecx cot x
C sin x D. | —cos exx cot x
.[COS xdx =
39. | A | - cos ecix B. | —cos ecx cot x
C sin X D. —~ cos ecx cot X
j3sin Jxdx = _ +c
38. A, —cos 3x B. cos 3x
C tan 3x D. — tan 3x
I3sin 3xdx = _ +c
3C. | A, | —cos3x B. cos 3x
C tan 3x D. — tan 3x
1
I = +C
39, [ x-1
A. |log(x-1) B. |logx
C. |logl D. |log(x+1)
I ! = + C
3¢, 1!
A. |log(x-1) A. |logx
C. |logl C. |log(x+l)
J' ! dx = + ¢
Tx+5
40). A log |7x + 5| B. log x
C 7log |7x+ 5| log |7x+5|
7
1
J‘ dx = +
Tx+5
%0. A log |7x + 5| B. log x
C. 719g|7x+5| log |7x+5|
7
Itan xdx = +c
41.
A. log |sec x| B. og |cot xl
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C. sec © x D. | Guz 44l s\ ueL 01@
Itan = +C
" A | 1og |sec x| B. iog |cot xl
C.o | sec?x D. | Guz Udl s\8 yelL o3
1 e;
[
. l+e
x B.
4. | D | ree log —*
2
C e D 1
log —
1 e_t
X dxj -
1+ e
Xe. A. log ex B. k)g 1+e
2
C e D. 1
g —
J‘2xdx =
43, | o
A |0 B. 1
C 2 D. 4
J'Zxdx =
¥3. |
A0 B. 1
C. |2 D |4
J‘cos xdx = _
44, a
A |0 B. |-sinx+c¢
C. |1 D. | Sinx +c
J‘cos xdx = _
¥Y¥. 0
A |0 B. |-sinx+c¢
C. |1 D. | Sinx+c
J'tan xdx =
45- A_ 10g 2 B. 'Sin X+
C. |0 D. | Sinx+c
J'tan xdx =
xqﬂ A_ 10g 2 B. 'Sin X+C
C. |0 D. | Sinx+c
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line x=2,x=0,x =1 and X — axis, then area of bounded curve is
46 A0 B. 5
e s D |10
4 2
AUSol x = 2,5 = 0,x=1 3ol x— A Y LAAcArclR of Aoisal
¥S. | A 0 B 5
C 15 D 19
4 2
Order of D.E. [d f} +(diw +y=0
47, dx L)
A |0 B. 1
C. |2 D. |3
@sc wdls:et [d—y} ) s 0w uBue
¥49. d \dx )
A |0 B. 1
C. |2 D.
Degree of D.E. f s 0
48. dx dx
A |0 B. 1
C. |2 D. |3
@Qsa s <2, .2 2o wd sau
Xc. dx dx
A |0 B. 1
C. |2 D. |3
D.E. of givenline y = mx +¢
A. dy B. ay
—_— =0 — = MX
49, dx dx
C. 4 2), D. a’ y
=1 = m
dx dx’
@sc wls2e y = o +c M
A. dy B. ay
—_— =0 - = MX
¥c. dx dx
C. d Zy D. d’ v
= = m
dx’ d ’
Solution of given D.E. x*dx + y“dy = 0
50. |A. | w=ec B. x+y=c¢
C. |[x~y=¢ D. | None of the above
(Asct S0l «?ar + vPay = 0 HIZ B3cL
vo. | A xy =¢ B. x+y=c
C |x-r=¢ D. | Guz U9l 818 ol o
. . d'y
Solution of given D.E. —+y=0
S1. A, | y=sib x+cos x B. y =sin x
C. | y=cosx D. | None of the above
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Qsa sy 224 , - o W2 G3el
dx
€. | A y =sin x + cos x B. y = sin x
C. | y=cosx D. | Guz U4l 818 ol o
LF. of given DE. 23, = o>
dx
52. | A | e B. | ¢
C. D. 3
X
@sa wllsRel 2y 3, - . HER LF.
dx
U, [A e B. | ™
C. D. 3
X
. dy
LF.of given D.E. —+ Py = @,
dx
53. A. ejpdx B. efj.pdx
C. § oax D. | None of the above
(24
@sct wdllsel 24 py - 0, M2 LF. =
dx
A. pdx B -
43. eI e i px
C. [ jes D. | Guz 14l 818 el «1B
If ri{(x)=8x"2x,f{2)=8 thenfind f(x)=
54. Al 2xt - xT =20 B. 25— x> =20
C.|ax'-x*-20 D. | 2x* -2 -0
o fix)=8x"2x,7(2)=38 dl find flx)=
WY, | A | 2x' -7 20 B. | 2x°-x"-2
C. 2xf - x’ - 20 D. 2xt —xP =10
LF. of D.E. di%ﬂ ysin x= ™"
dx
55- A' cos & B' e-sinx
C. e - COS X D. ¢ sin x
Rsct w150l 2+ ysin x = e WS IF.
dx
l{l{. A- ecas x B- e-- sin x
C_ - o8 X D. esinx
Degree of given homogeneous equation f(x,y}= x3 i y3
56. r Y
A |2 B. 3
C. |4 D |5
ey =2 glillepe(lAlu @A W2 sau
l{S. x 4+ y
A |2 |B. |3
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C. |4 ID. |5
Solution of given D.E. ydx + xdy = 0
57. | A [Tyt =c B. ' oyi=c
C. xyi=c¢ D. 1y =c
[Qsct 520 yar + xay = 0 oll B3
w9, | A ryi=ec B. x-yl=c
O D |w=c
_[cot xdx =
58. A. log tan x B. log cos x
C. - cos ec ' x D. log sin x
_[cot xdx =
U¢. |A | log tan x B. | log cos x
C. | - cos e’ D. bog sin x
. . . dy Y 2
Solution of given linear D.E. —+ —=x
dx x
A xz B. x4
59. Xy = —+¢ y=—+c¢
3 4
C. S D. 1 Guz 14l 918 ua «1@
Xy =—+c¢
4
cllolla Qset wllsel 2+ 22 2 ol G3cd
dx  x
A, ¥ B. ot
ye. Xy =—+c y=—+c¢
3 4
C. x D. | Gu? U8l 8¢ wal o3
Xy = —+¢
4
J'sin P xdx = _
60. >
A | -1 B. |
2 2
C. |11 D. |0
J'sin P xdx = _
0. |2
A | -1 B. |
2 2
C. | D. |0
dx
I = +c
3x-2
61. A log |3x - 2| B. 3log |3x - 2|
C 1 D. |1
—log |3x| —log |3x - 2|
3
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dx
I = +c
3x—-2
5q. fog |3x - 2| 3log |3x~ 2|
C. 1 1
—log |3x| —log |3x - 2|
3 3
1
Ifjf(x)dxzzsec 2x+c¢ then f(x)=
62. A, | sec xtan x sec 2xtan 2x
C. sec 2x tan 2 x
1
o8l [ f(x)de = —sec 2x+ ¢ Al f(x)=
2
S Al sec xtan x sec 2x tan 2x
C. sec 2x tan 2x
.[xzdx = _
63. |A. | 1 8
3 3
C. |8 2
.[xzdx = -
$3. |A. | 4 8
3 3
C. |8 2
J'(tan Txrcot N xldr =
A |0 n
64. kdls
2
C|n 50
2
_[(tan "x+cot ' xldx =
A |0 n
S¥. 3
2
Co|o sn
2
K= e” ('-ll ¥, =
65. |A. | g™ R,
C. | .2 None of the above
Qﬁ v = e’” Cn ¥, =
su, |[A | 8e™ Be*
Co|e Gur U4l 8 el o
d 1
66. —(—J=
dx \ x" )
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A, 4 B. 4
C s 2
41
dx Ux* )
A, 4 B. 4
56. - -
C. 4 D. 4
Solution of D.E. Z%Jr Py =Q
67. |A | y(1.F.)= I[Q(P.F.)dx]+c B. | yirr)= _J'[Q(I.F.)dx]+c
Col s(r )= [leU.F)ds]+ e D. | Gur U4l 818 uel @
Rsa wls:we in+ Py = 0 ol G3cl
S3. | A | y(1.F)= _[[Q(P.F.)a!x]+c B. | yur)= ~J'[Q(1.F.)dx]+c
Co | vk )= [lo(F Jac]+ e D. | Guz U4l 818 ual oG
If -J;—i—»\/_: \/; then %:
AL B. | [,
68. J;. ~
C. Jj‘ D. J;
N P
%ﬂ‘J§+vfi_JZ'&l§3_
A | [L B. | [,
sC. J;- =
D. ‘/;

If f{x)= %" - 4x+ 3 then minimum value of f(x)=
1

69. [A. |- B. |0
C. |2 D. |2
%l f(x)= 5" ax 3 cll ool of f(x)=
SE. [A. [ B. |0
2 D. |2
-
I £(x)= L) then s(1)-
70. \x)
A |1 B. |-l
C. |2 D. |0
1 X
Are)-[L) QA rwy-
J90. \x )
A |1 B. |-1
C. |2 D. |0
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